M an A

YIBO IX1B

!

A KABAMRBEMHEMARANGIETZ, AIEMES, FHK

A FmMRTE, AEARERNAAIRIFHES

A THEN, BRBEXKGE, MMRTTER, FRBERR,
EREMEHEEEITRSKF
A IMZEMPRRETININE, RESMIFRI, FERZDN,

s ZEFBIF AER
A REBZBE, REEBAGHRENR

FEFEEE

17 e %y MEEENOTIAS
BE  WAREBSminEEMNR
i\-'_ . WEETAT §=5 e & -

LBLARFERAE

A ZETABIRFHMHEH#ETMMIME, EEITE. RERENER
A BATERERRER, REREHIHNER, NEHRBRE

ARSI

O 0O N OO O & W N =

2 E 95%

—_
— O

BIREE2000m

5| fRE GB/T12747-2004, 1EC60831-1/2-2008
ZEBE 100~660V

ZNE SR 50/60Hz
RERE +5%
1#E(7TR) <0.2W/kvar
hialfifE 2.15UN(AC) 10S
th=mE 3000V(AC) 10S
X EEEEFH FrAERNEBETB]60S
IF5RE -25°C~55°C

12

iy Yy SR O TESD
BE  FAREsSminEAENE
Gl 2 I=AN ey, 1. 5

Li®LlaRFEMAR

& EBJE 1.1UN(&24/\8 783 B2 [E8/) )
o R 1.3IN

IR 200IN

it 100000/)\8¢

TEHN IR

E235 ULy S V[ R}::357 S

BhiFELR P20

T4 =2 ESFRIP+R R E+ B Y
AR HARIMNE

SEAEM R EAm R ER

pEDEY) 46455 (NON-PCB)

MERS B S

iF
BKMJ 400V 50/60Hz A=A
0.4-5-3 5 100 Ted 173X 70X130 M6 X 18 N |
0.4-10-3 10 199 14.4 173X70X 170 M6 X 18 2.1
0.4-15-3 15 298 21.7 173X 70X 230 M6 X 18 2.1
0.4-20-3 20 398 28.9 173X 70X230 M6X 18 2.1
0.4-25-3 25 497 36.1 173X 70X280 M6 X 18 2.1
0.4-30-3 30 597 43.3 180X95X290 M8X 16 2.2
0.4-40-3 40 196 57.7 180X 95X290 M8X 16 2.2
BKMJ 450V 50/60Hz A%
0.45-5-3 5 79 6.4 173X 70X130 M6 X 18 2.1
0.45-10-3 10 157 12.8 173X70X170 M6 X 18 2.1
0.45-15-3 15 236 19.2 173X 70X 230 M6 X 18 2.1
0.45-20-3 20 314 25,1 173X 70X230 M6 X 18 2.1
0.45-25-3 25 393 32.1 173X 70X280 M6 X 18 21
0.45-30-3 30 472 38.5 180X 95X 210 M8 X 16 2.2
0.45-40-3 40 629 915 180X 95X290 M8X 16 2.2
BKMJ 480V 50/60Hz A&
0.48-5-3 B 69 6 173X 70X130 M6X 18 2.1
0.48-10-3 10 138 12 173X 70X 170 M6 X 18 2.1
0.48-15-3 15 207 18 173X70X170 M6 X 18 2.1
0.48-20-3 20 276 24.1 173X 70X 230 M6 X 18 2.1
0.48-25-3 25 345 30.1 173X 70X 280 M6 X 18 2.1
0.48-30-3 30 414 36.1 173X 70X280 M6 X 18 2.1
0.48-40-3 40 b o 48.1 180X95X290 M8X 16 Vi,
BKMJ 525V 50/60Hz A%
0.525-5-3 5 58 5.5 173X 70X130 M6 X 18 2.1
0.525-10-3 10 115 11 173X 70X 170 M6 X 18 2.1
0.525-15-3 15 173 16.5 173X 70X170 M6 X 18 21
0.525-20-3 20 231 22 173X 70X 210 M6 X 18 2.1
0.525-25-3 P 289 27.5 173X 70X 280 M6 X 18 2.1
0.525-30-3 30 346 33 173X 70X280 M6 X 18 2.1
0.525-40-3 40 462 44 180X95X290 M8X 16 2.2
pEBIR~F
% | ) g{ - 1031 _
| - ! l
B ' =§]
:
i R
| E | I |
* ! o (7 i J
J ' & 2.2




